1) Suppose that S is a random variable that is defined on [0,∞) and whose probability density function is:
G(s) = 
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a and b being positive numbers. Show:
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where

N(z) = 
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2) We know that the solution of the final value problem
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,  0 ≤ S,  0 ≤ t  ≤ T,
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Here

G(S’,T;S,t) = 
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where
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Using this result and the result in 1), show that the price of a put option is given by:
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where

[image: image11.wmf]t

T

t

T

E

Se

d

t

T

D

r

-

ú

û

ù

ê

ë

é

-

+

=

-

-

s

s

)

(

2

1

ln

2

)

)(

(

1

0

,

[image: image12.wmf]t

T

t

T

E

Se

d

t

T

D

r

-

ú

û

ù

ê

ë

é

-

+

=

-

-

s

s

)

(

2

1

ln

2

)

)(

(

2

0

.
_1249157944.unknown

_1249158723.unknown

_1249158902.unknown

_1249159379.unknown

_1249159338.unknown

_1249158789.unknown

_1249158402.unknown

_1249158663.unknown

_1249158210.unknown

_1249157642.unknown

_1249157793.unknown

_1249157429.unknown

